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He jumped; all are exempt — WD 91 PEP

OVERVIEW

The 71wn teaches that if one of the counted animals in the 7172 AWYn process
jumped back into the corral where the animals, who are waiting to be
counted and tithed, are; the rule is that all the animals, both those that were
counted and those waiting to be counted, are 7D from wyn.! Our mooIn
argues that this "1» should be 2172 02 and therefore he and certainly all the
others should be wyn2a 217,

nvoIn asks:
— YUYNA INDID 12N ZNM‘): 504257 NN

It is astounding! For the "1n, which jumped back in, should be nullified
by the majority of the other animals, and they should all be obligated to
be tithed!

mMooIN anticipates various answers to this question and rejects them all:
— 12919 9N 9503 NY 173192V 9279 NDT

For that which we rule that something which is counted is not >3, that
will not explain why there is no Iwy» 21’1, because granted that animals are a

7w 927, nevertheless the rule that a PInw 127 is not Y02 is only 333972,
however 707 17 it is P03, and since WyYn is a 707 M 20, the requirement to be Wy
overrides this rabbinic ruling.4

mooIn rejects an additional potential answer:
— PPVY79 12999 95NN NOIRNY 9272 NN TV PPN 23) 93

! See 1912 1"7°"wA. Those that were not counted are 7D because since the 770 writes VAW NN 92 WK 9
wp 7 wyn (whoever will pass under the whip as the tenth, will be wyn); this precludes anyone who
already passed vaws nnin. In this case there is always the doubt that the previous "1 who already passed
vaws nin (and is exempt) is part of the group of ten.

% 7071 10, something which is MoK is nullified 2172. If one piece of 77°21 meat became mixed up with two
pieces of 7w meat, the rule is that one may eat all three pieces of meat, since the 7°21 was 2172 Sv2. Here
too the "1 (who is "wynn WD) became intermingled with other animals who are w¥na 2711; the rule
should be that all the animals in this mixture are 7wy»2 211 since we follow the 211.

? The 020 made a rule that items which are prominent () are not 2172 Yv2. One way of establishing if
an item is a 21wn 117 is to see how it is sold, if it is sold by weight or volume it is not a 21wn 727 (and it
becomes 2112 Hv3) however if it is sold by the piece (73w 127) then this shows that it is a 23w 127 and it is
not 2172 Hv1. Cattle are generally sold by the piece and are considered a 1w 127 and therefore are not 7v2.
* The ruling 132777 is only X that it is not 92 if the 1°3n2w 127 is a MoK 7127; however we cannot use this
X772, to exempt these cattle from 772 WYn, since N"n it is 2172 Hva.
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And the rule of *»7 7¥nn 5y 7¥mm> »1ap is applicable only in a case where

the prohibited and permitted items are recognizable and known -
— 5799930 70 PAD NPY NN Y15 R

But he did not know from where he took it, as for instance in the case of

nine stores, etc. where the 7w and 77%°21 stores are known. However here we do not
know which animal jumped in and is not fit for 7w¥» and which are fit for 7wyn. In this
case the rule of "7 1xmn ¥ ¥ ¥12p 95 does not apply. It should therefore be 2112 %v2.

mooIn rejects another proposed solution:
— (N,N8 97 81’711'\: PYIDTI 97 RY M) '3

And this "» is not considered a 57972 (which is not 2172 502) as I explained
in 231 noon.

mooIn rejects one final suggestion:
— N2Y9 NIDT NN P 97V INYI XDV 91217 NI

And we cannot answer that only one animal remained in the corral, into

which the "1n jumped, so there is no 219 of animals that are Wyn2 277 -
$997 ¥IYN KXY 19INY YWY

Because the expression ‘into them’ does not indicate so; the word ‘them’
indicates there was more than one animal remaining in the corral. The question remains
why is the "1 who jumped back, not 2172 03, and there should be a 2vn to be Wwyn?
mooIn does not answer this question. See "X N12OIN

SUMMARY
Why do we not say that the y9pw 1% is 2172 S02?

THINKING IT OVER
How could mo01n even assume that here it is a case of SJDP?!g

3 y73p means set or fixed. See following footnote for the difference between ¥12p and w*s.

® The case of N1 'v is in a city were nine butchers sold 7w meat and one butcher sold 79°21 meat. The rule
is that if one finds meat in the street we presume it to be 7> since the majority of the stores (and of the
meat sold in this community) are w3 therefore we say the we follow the 211 and w™5 X217 w7 9
(whatever separated itself [from the stores] it is assumed that it separated itself from the majority of w>
stores). If however one purchased meat in a store and he is uncertain from which store he purchased it we
rule that since the stores are ¥13p they are set and fixed in place, therefore we have a T»°% from a 109 that
M7 XN Y A% Y1ap 99 (see X, M2d). It is considered as if there were equal amounts of 20> MoK and
there is no 211 and the meat is (P50n) 7OXR. See “Thinking it over’.

7 A 72 means a creature. A whole creature, for instance a v, is not Hv2 if it was mixed with 207 211.

8 A 7™1 is not bv1 if it was born with this 110°X (for instance a yaw). Here however this "1 was originally
also wyna 1nn; it became WynM MWD only once it was counted, this is not considered a i"72. It would
seem that Moo maintains that a 7°72 is not X177 Y01 (see, however 71"R # 126).

? See n'"m.
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